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Alice brought 2 pencils. Her dad  
brought 7 more pencils for her. How 
many total pencils are there ?
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Solve the word problems.

Mini ate 6 ice-creams. Sam ate 2 
ice-creams. How many ice-creams did 
they eat in total?

Martin plucked 4 apples. Later he 
plucked 5 more. How many apples did 
he pluck in total?

Addition word problems (sums up to 10)
Kindergarten Word Problems Worksheet

© www.k5learning.comReading and Math for K-5



+ =

+ =

Alice brought 2 pencils. Her dad  
brought 7 more pencils for her. How 
many total pencils are there ?
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Answers:

Mini ate 6 ice-creams. Sam ate 2 
ice-creams. How many ice-creams did 
they eat in total?

Martin plucked 4 apples. Later he 
plucked 5 more. How many apples did 
he pluck in total?

6 2 8

4 5 9

2 7 9

Addition word problems (sums up to 10)
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